A £ 0l & AF & S

20248 =0ila eI SAIE 20t

Al A

A SXNEH
B =1EY As)
el XGAtel XS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SXE M 39,238,499 36,192,995 4,045,504
= 17,158,627
[ 1,811,334
Il 113,400
Al 10,482,235
Tl 9,672,903
SXEH 25t 13,147,080 9,830,206 3,316,874
= 3,718,400
s 118,156
AlHI 2,797,051
Tl 6,513,473
ASAel SX8HE 8,308,219 7,651,648 656,571
= 20,000
[ 110,656
AlH] 2,170,712
Tl 6,006,851
AR =SR2 2 487,126 368,134 128,992
307 elztol & 476,126 347,134 128,992
05 21t =S 476,126 347,134 128,992
OAtzl=A12 28 X2 465,526,000 465,526
OF&=A2 &g Bx 3,600,000 3,600
OETLUOHLHE SE=SAY K&
7,000,000 7,000
401 Al HIZL 01| 11,000 11,000
01 Al&H| 11,000 11,000
OAtzlSAI2 It EH S
11,000,000 11,000
AL IS & ARl S X2 HE 2,500,000 3,000,000 /500,000
401 AlZHIZ S OHbI 2,500,000 3,000,000 /500,000
01 A28l 2,500,000 3,000,000 A500,000
OAtGtOIEI S At SXI2 A-(0Is2Y)
2,500,000,000& 2,500,000
NSAt 280 = =8 & 8ot 2,000 2,000 0
201 2egh=3| 2,000 2,000
01 At22t2lt] 2,000 2,000
OXNGAI 2308 +8 2 It EE3
2,000,000& 2,000
NSAR 2ZE M AR= 29 58,303 58,303 0
AlHI 24,000
-l 34,303
307 @120l & 58,303 58,303 0
AlHI 24,000
Tl 34,303




2A:

SINESES N}

B =1EY As)
el NSAe SIS (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 2IHBHAIHE £ 12,000 12,000 0
OXN A 2HE N SatAte =8
12,000,000 12,000
AltI 6,000
-l 6,000
03 PIHHEE 22X 46,303 46,303 0
OXNYAIEEE oM 291 X
43,303,000 43,303
Al 18,000
Tl 25,303
OXNSA2ZEM 284l S
3,000,000& 3,000
KNS 2EZE2AM 2E X 16,000 16,000 0
201 fer=3| 16,000 16,000
01 AtR2tc|HI 16,000 16,000
Os NSALIEZE AN 248 K&
1,000,000& 1691 S 16,000
ARS8 X2 2,500 2,500
307 lztol & 2,500 2,500
02 LB HAHE L 2,500 2,500
OAt2|S XA St st 2,500,000& 2,500
ARISXIAIE SAHL ML 54,000 45,400 8,600
301 LEtE N = 54,000 45,400 8,600
14 DBt 2 a3 54,000 45,400 8,600
OAIISXIAIE SAEL M2M&8l X2
54,000,000& 54,000
2832 29 20,114 20,114 0
201 =3 20,114 20,114
01 At22t2lH] 3,000 3,000
O==zl2 2EEE 7Y 3,000,000& 3,000
02 S5=2g4l 17,114 17,114 0
OE=3& 838Q= S 9,500,000& 9,500
OF=3a ALANE 3 B
1,500,000 1,500
OE&32 A=RA 22HS
6.,114,000& 6,114
SECH XA 216,000 208,100 7,900
301 EtE NS 58,000 58,000 0
02 A2 EH 2GS (FHAAHS, W) 58,000 58,000 0
OEsHH A2 N2 58,000,000& 58,000
307 el2to| & 168,000 180,100 7,900
02 2IZHBYAIHE A 89,936 84,500 5,436
O &Ml AFZEHl XI& 89,936,000 89,936
03 YIAHHEE 22X 68,064 65,600 2,464
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SINESES N}

Zu: =REY U3
cel: XAtel SX#E EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
| O=sc easl 1w 68,064, 0002 68,064
HHKRSA X 1,938,440 1,938,440 0
Al 1,848,000
] 90,440
301 LEBEF 1,938,440 1,938,440 0
Al 1,848,000
-l 90,440
02 MBI SR 53 (FHS, KT) 1,988,440 1,988,440 0
ORI Fol=< 1,848,000,000& 1,848,000
Al 1,848,000
OAlot= & H0==< 73,440,000& 73,440
OEHEREX AILRZ23 17,000,000& 17,000
SEssN AA 66,000 10,600 55,400
301 LEt2E S 66,000 10,600 55,400
02 AISIEZE LGS (FAAS, RYTHR) 66,000 10,600 55,400
OABI T SERBN 29
66,000,000& 66,000
=234 XA 256,200 186,000 70,200
Al 183,000
el 73,200
301 Et2E = 256,200 186,000 70,200
Al 183,000
| 73,200
02 AISI 2 6IZ(FUAS, RLTHR) 256,200 186,000 70,200
OB LS+
183,000,000 183,000
Al 183,000
OAfot? E230==g 73,200,000& 73,200
SXNHEE RX2 26,780 23,820 2,960
201 22 19,400 16,440 2,960
01 AFS2t2ltl 4,160 4,200 240
OXNABIBHHE BT M
1,000,000 1,000
OXAABIS BT ASE HE
1,000,000& 1,000
OEEF, 842 5 HX 540,0002! 540
OX=T o - e HH3 29
1,620,000 1,620
02 Z324l 240 240 0
OSSN SSELAAY SHFEL)
=23 240,000 240
03 A2 EHI 15,000 12,000 3,000
O3 Y=X¢E 3 15,000,000 15,000
203 =& 7,380 7,380 0
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A SAE M
B =1EY As)
=Rl XSAlel SXEy EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A=A RN 7,380 7,380 0
O=2=i= g2xd 3,000, 000& 90 2,700
OAt2IS Al gf=d 1,500,000 *90f% 1,350
Og2aEAMbIA 2T 213
700, 00024 %90% 630
ORECHIY 92 Y=
1,500,000 *90% 1,350
OXMdi+= g2=a 1,500, 0002 *90% 1,350
AR ESR22F SAH| 138,600 107,184 31,416
301 EetE2 N = 138,600 107,184 31,416
0 MSRREES 138,600 07,184 31,416
OAtZI=22% SAHI 138,600
SHEH=T M
7,0003 *13E*222 « 12 24,024
A2l SXIAIE
7,000 60 x222 * 12 110,880
SXEH 7,0003 2822 * 122 3,6%
ANZESLHET K& (HEAY) 979,076 818,547 160,529
301 EtE NS 979,076 818,547 160,529
10 AR=SREs 979,076 818,547 160,529
OAt2IZ2HE X 979,076
EE] 1,000,000& x75E « 12 900,000
wSH| 3,400 752U x 12 67,320
- I|=8l 335,870&%35& 11,756
Mol =21z A& 30,000 20,000 10,000
Altl 30,000
302 O|=H Mol 2ai= 30,000 20,000 10,000
AltI 30,000
02 2 s e S243 30,000 20,000 10,000
OMali==21= X2 30,000,000& 30,000
AlH] 30,000
2232 S SYFAE HE ,204,000 0 1,204,000
401 AIEHIZ SR 0HYI ,204,000 1,204,000
01 Al&H| 1,204,000 1,204,000
O=2&s|2 A (REEAL & EHEAH])
1,204,000,000& ,204,000
2oe SE=SS A 2 100,000 100,000 0
AltI 50,000
-l 50,000
201 er2 3| 3,000 6,000 A3,000
AltI 1,500
-l 1,500
01 AtR2t2|HI 3,000 6,000 23,000
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X XH -
o e

=aak

SXIE M
ST 2
- =R

23
KAtgl =X

23 (£ & E)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
OSNEEEER N 221d
3,000,000& 3,000
AlHI 1,500
Tl 1,500
301 22N = 3,000 0 3,000
AltI 1,500
Tl 1,500
02 ARSI 2E AT S(FIANS, XLETHE) 3,000 0 3,000
OSE=Ss HaX Mot=AH X
3,000,000& 3,000
Alt] 1,500
- 1,500
307 elzto| & 94,000 94,000 0
AltI 47,000
Tl 47,000
11 ARRIS XA E X 94,000 94,000 0
ORNE SHES AlY 29
94,000,000 94,000
Altl 47,000
el 47,000
SXNARXN 2= & ol 5,000 5,000
201 er23 | 5,000 5,000
01 Al2 2218 5,000 5,000
OSTMANN L2 82 % 29
5,000,000& 5,000
OSAF GIEHA 7= At 40,000 60,000 /20,000
= 20,000
AlHI 12,000
-l 8,000
201 fer23| 408 1,640 N1,232
= 204
Albl 122
- 82
01 At2teltl 408 1,640 A1,232
OLU=A IgHA -5 88 & 2E3
408,000& 408
= 204
Altl 122
- 82
301 LtEN= 17,292 21,360 4,068
= 8,646
Al 5,188
- 3,458
01 Al EEATZ(2REZME) 17,292 21,360 4,068
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X XH -
o=

=XIE D
=XFH Ys
XIeiAEl =X

=T s (Shol: &2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OLI=At WA 25 17,292,000& 17,292
= 8,646
Albl 5,188
4| 3,458
307 212+01 A 22,300 37,000 A14,700
= 11,150
Albl 6,690
4| 4,460
11 ABIERAIY 2 X 22,300 37,000 A14,700
O0IZXs ANIESE 29
22,300,000 22,300
= 11,150
Altl 6,690
2| 4,460
SHES FOHs BASAMEIA AIRHI(S ArI22IA 158,080 157,872 208
A X&)
= 110,656
Albl 23,712
=4l 23,712
201 Ler23| 79,040 78,936 104
iy 55,328
Altl 11,856
=t 11,856
01 A=R2teld| 79,040 78,936 104
O= SAtdIZeAE 2
79,040,000 79,040
iy 55,328
Altl 11,856
=t 11,856
301 LetENZ 79,040 78,936 104
ax 55,328
Altl 11,856
=l 11,856
01 AISIBE X 2GS (2 RETME) 79,040 78,936 104
O SEAtdEeIAE AR NI
79,040,000& 79,040
= 55,328
Altl 11,856
=l 11,856
NAs HRESSK U4 XA 10,000 10,000
307 2I2+0l ™ 10,000 10,000
02 QIZHBAAIEER 10,000 10,000
OMASE HRES=X HAX X
10,000,000& 10,000
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STEH 245}
NGAte] LhsF2l

SA - ZE . BR() - HRAR - BES of v G o HIDE2
KA LsFE 4,838,861 2,178,558 2,660,303
= 3,698,400
[ 7,500
AltI 626,339
-l 506,622
- SetAtdl2el X3 15,000 15,000 0
[ 7,500
AlHI 3,750
Tl 3,750
201 er2&| 7,500 7,500 0
= 3,750
Alt] 1,875
Tl 1,875
01 AtR2telbl 7,500 7,500 0
OAtell2telAg 29 7,500,000& 7,500
= 3,750
Albl 1,875
- 1,875
301 EtE NS 7,500 7,500 0
= 3,750
Altl 1,875
el 1,875
01 Al 2E A S(SRNEXMH) 7,500 7,500 0
OAtell 22| At THaf AL X2
7,500,000 7,500
s 3,750
AlHI 1,875
el 1,875
28 SXXE 4,623,000 1,971,269 2,651,731
= 3,698,400
AlHI 462,300
Tl 462,300
301 EtE NS 4,623,000 1,971,269 2,651,731
= 3,698,400
AltI 462,300
Tl 462,300
01 Al EE A S (FRNEXA) 4,623,000 1,971,269 2,651,731
o2g =XX& 4,623,000,000& 4,623,000
= 3,698,400
AlHI 462,300
Tl 462,300
JI=EEWT 29 40,000 40,000 0
AlHI 20,000
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SINESES N}
SN 2ot

KNHAE Lhs=&

SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 20,000
307 gl2tol & 40,000 40,000 0
AlHI 20,000
-l 20,000
11 ARRIS XA E X 40,000 40,000 0
OJI=%Ctd3 2g X&
40,000,000 40,000
Alt] 20,000
Tl 20,000
JI==2E0r 29 68,572 60,000 8,572
AltI 48,000
-l 20,572
307 @20l & 68,572 60,000 8,572
AltI 48,000
-l 20,572
11 AMISXAIEEX 68,572 60,000 8,572
OJIEZS0R! 29 X
68,572,000& 68,572
Al 48,000
Tl 20,572
24 2Ig= XS 92,289 92,289 0
AlHI 92,289
301 2= 92,289 92,289 0
Al 92,289
02 MR 2HALFS(HAAS, XNLHE) 92,289 92,289 0
OR4re 2Ig=XIA3 92,289,000 92,289
AlHI 92,289
OtS=Al e 25,301,980 24,696,036 605,944
= 13,436,827
= 1,379,974
Il 113,400
AltI 7,610,679
-l 2,761,100
olsEs 25,301,980 24,69%,036 605,944
= 13,436,827
= 1,379,974
7l 113,400
AltI 7,610,679
Tl 2,761,100
Ols= X WAL A XI& 266,556 248,790 17,766
[ 129,318
AlHI 64,659
Tl 72,579
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
101 @124H| 266,556 248,790 17,766
= 129,318
Albl 64,659
- 72,579
M ORNZZ2NSE S 266,556 248,790 17,766
OOt=SXIWAL 014H]
258,636,000 258,636
= 129,318
Altl 64,659
Tl 64,659
OOlS=XWAHELH) MRMLH S 7,920
SE S| 300,000 %13 3,900
SEE SAERIE 300,000 %13 3,900
pap =l 30,0002 4% 120
AgotsdE 228l K& 300,69 282,09 18,600
= 150,348
AltI 75,174
-l 75,174
307 21201 & 300,69 282,09% 18,600
[ 150,348
AltI 75,174
-l 75,174
10 AlISXAEEHE 22X 300,69 282,09 18,600
OXSotsHE 22! K&
282,096,000 282,096
[ 141,048
AlHI 70,524
Tl 70,524
OXIH0otsHlE 0t 2Ll N (THHEH2
g gel) 18,600,000& 18,600
[ 9,300
AltI 4,650
Tl 4,650
AS0tSHE lAHl XA 1,264,824 1,264,824 0
[ 632,412
AltI 316,206
-l 316,206
307 gl2to| & 1,264,824 1,264,824 0
[ 632,412
AlHI 316,206
Tl 316,206
10 Al SXAAEEHE2EHI2x 1,264,824 1,264,824 0
OXS0otsHIE Al K&
1,264,824,000& 1,264,824




2A: SXFH
33 Ors=A gd
el olEEs (cie) 29
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 632,412
AltI 316,206
-l 316,206
SE==8E NY0tsdH FIOHI& 61,016 60,480 536
= 30,508
AltI 15,254
-l 15,254
307 @12t0| & 61,016 60,480 536
[ 30,508
AlHI 15,254
Tl 16,254
10 Al SXAEEHE 22X 61,016 60,480 536
OS42x8 XHOISHE T
61,016,000 61,016
[ 30,508
AlHI 15,254
Tl 15,254
EREE NFotSHE =0t XI& 15,000 14,592 408
[ 7,500
AlHI 3,750
Tl 3,750
307 el2tol & 15,000 14,592 408
= 7,500
Alt] 3,750
Tl 3,750
10 Al SXAIEEHE2EHI 22X 15,000 14,592 408
OXotsHE E22E It X
15,000,000 15,000
= 7,500
Alt] 3,750
Tl 3,750
Ot &8 XS0tSHIE! X2 15,600 15,600 0
AlH] 7,800
-l 7,800
307 gl2to| & 15,600 15,600 0
AltI 7,800
-l 7,800
10 Al SXAI2EE 22X 15,600 15,600 0
OORIEEXIAOLSHE X2
15,600,000 15,600
Al 7,800
Tl 7,800
KSOISHE SAEG M2MA X 380,848 380,001 757
AlHI 180,674




2 SXE
ma: ols=x EHAl
el olEEs (cie) 29
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
sl 200,174
307 gI2Hol M 380,848 380,091 757
AltI 180,674
=t 200,174
10 Al = XA EHE2FHIE X 357,448 357,291 157
OX<SGOotSHEH AL H<ME X
335,318,000& 335,318
Al 167,659
-4l 167,659
OXIS0t=s4HEH SARL SXZUE K&
3,900,000& 3,900
AlHI 3,900
OXIG0tsHIE SALA ALl =& XI&
18,230,000& 18,230
AlHI 9,115
24| 9,115
1 ABI=Z XA X 23,400 22,800 600
OXIGOISHE BAX =X+
23,400,000& 23,400
XSE0tsHlg T2 2| K& 40,800 40,800 0
AltI 20,400
sl 20,400
307 212+01 A 40,800 40,800 0
AlHI 20,400
sl 20,400
10 AlZISEXAEHE2EHIEX 40,800 40,800 0
OXI0tsHIE T2 2| X
40,800,000& 40,800
Al 20,400
4| 20,400
XS0otsHlE 2ZoHadl XA 43,000 43,000 0
s 21,500
Altl 10,750
=4l 10,750
307 QIZ2t01A 43,000 43,000 0
s 21,500
AlHI 10,750
=l 10,750
10 Al S XA EEHE2IHIE X 43,000 43,000 0
OXE0t=s4ly 2+3IHadl XI&
43,000,000& 43,000
s 21,500
AlHI 10,750
=l 10,750




A SXNEH
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
NS0tSHlE =yl A& 5,865 5,865 0
AlHI 2,932
Tl 2,933
307 el2to| & 5,865 5,865 0
AltI 2,932
-l 2,933
10 AlISAAZEE 22X 5,865 5,865 0
OXIHOISHIE] Wigy| X2
5,865,000 5,865
Albl 2,932
Tl 2,933
CietlsSsdEe 22d X2 108,000 75,600 32,400
= 36,000
Altl 18,000
Tl 54,000
307 212+01& 108,000 75,600 32,400
= 36,000
AltI 18,000
-l 54,000
05 glt?(& = 108,000 75,600 32,400
OUgnNss4E 23Hl XJ(2X)
72,000,000 72,000
= 36,000
AlHI 18,000
-l 18,000
OotUgnss4e 221 XI&(XHH)
36,000,000 36,000
CietNssdl 2118 X 414,216 414,216 0
= 207,108
Albl 103,554
Tl 103,554
307 212+01& 414,216 414,216 0
= 207,108
AltI 103,554
-l 103,554
10 Al SXAEEE 22X 414,216 414,216 0
OtUEgN=saE el2dl X2
414,216,000 414,216
= 207,108
AltI 103,554
-l 103,554
CHENSSHE SAEL HRHH K& 21,460 21,460 0
Alt] 7,730
Tl 13,730
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 21,460 21,460 0
AlHI 7,730
Tl 13,730
10 AlRISAAIEEHE 2B Ex 14,260 14,260 0
OUENSSHH SAHA M<HAHl K&
8,640,000& 8,640
AltI 4,320
-l 4,320
OUESNESHE SAHAL AlZtIZ22 XI&
4,420,000 4,420
Alt] 2,210
Tl 2,210
OCHENESSHE BAR SXEOIE X2
1,200,000 1,200
AltI 1,200
11 AMEISXAIEEXS 7,200 7,200 0
Ol HESdH SAHL S8 A&
7,200,000& 7,200
02l0l=0IE & OtSAIE 2l 2,000 2,000
401 AIEHIZL SR 0HYI 2,000 2,000
01 AlZ8| 2,000 2,000
OO0El0l=0IAlE & OtSAIE 22
2,000,000& 2,000
OlsZStEAl &4 41,300 41,300 0
201 er23| 38,000 38,000
01 At2teltl 33,000 33,000
OO0tsdcl Olafuls & &steAl E2 S
23,000,000& 23,000
O0sEWII+ & 28 10,000,000& 10,000
02 s3=gHl 5,000 5,000 0
OOtS2alst=Al =8 NYFFE2 S HlH|
5,000,000& 5,000
203 HR=H] 900 900
03 A=A PR 900 900
OOtsalatzAl o2 Fa|2 S A2
g2 1,000, 0002 *90% 900
301 EtE2 NS 2,400 2,400
11 #AIAHIXIE S 2,400 2,400
OOts&EMII7 H0At S &8l
2,400,000 2,400
FHHE OlSSEAHIA X 187,247 171,560 15,687
s 149,280
AlHI 11,196
Tl 26,771
201 =3 114,607 99,840 14,767




2A: SXFH
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thel: OlSES (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 91,686
AltI 6.876
-l 16,045
01 AFS2t2ltl 111,607 96,840 14,767
OEEHARE T2
111,607,000 111,607
= 89,286
AltI 6,696
-l 15,625
2 S22l 3,000 3,000 0
OZ3323 3,000,000 3,000
= 2,400
Albl 180
-l 420
202 04| 8,640 6,720 1,920
= 6,3%
Altl 480
-l 1,766
01 2L AL 8,640 6,720 1,920
OCEAEE 2UEE 8,640,000 8,640
[ 6,394
AlH] 480
Tl 1,766
203 =4l 2,000 2,000 0
[ 1,600
AlH] 120
Tl 280
03 A= PR F&IH| 2,000 2,000 0
OLEAEE HRFM 2,000,000 2,000
[ 1,600
AlH] 120
T4l 280
301 LEetE N = 6,000 2,000 4,000
[ 4,800
AlH] 360
Tl 840
14 IIEt2 83 6,000 2,000 4,000
OXESALAF &8l S 6,000,000& 6,000
= 4,800
Al 360
Tl 840
307 elzto| & 56,000 61,000 25,000
= 44,800
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Alt] 3,360
Tl 7,840
11 AMEISXAEEES 56,000 61,000 /5,000
Oxs)BER]
56,000,000& 56,000
= 44,800
Al 3,360
Tl 7,840
g - getE otsaAlAl 2,155,932 1,762,020 393,912
AlHI 1,293,559
Tl 862,373
308 AXIHS0IA 2,155,932 1,762,020 393,912
AltI 1,293,559
-l 862,373
183 S 2AS0tHst 2,155,932 1,762,020 393,912
OBY - Y315 0SZAX
2,155,932,000& 2,155,932
Al 1,293,559
Tl 862,373
£ - 352 0tss8AX 465,597 416,150 49,447
AlHI 465,597
308 AFAIEHMSOIE 465,597 416,150 49,447
Alt] 465,597
183 S| 2S0ItHst 465,597 416,150 49,447
O& - 3154 0584 X
465,597,000 465,597
AlHI 465,597
ots=g A& 14,266,363 16,285,000 /1,018,637
= 11,413,090
AlH] 1,997,291
Tl 865,982
301 LEtE NS 14,266,363 16,285,000 A1,018,637
= 11,413,090
Al 1,997,291
Tl 865,982
01 A2 HSHS (22X 14,266,363 16,285,000 /1,018,637
Oots=¢ XN& 14,266,363,000& 14,266,363
= 11,413,090
AlHI 1,997,291
Tl 855,982
OlSLSAIZ(0HOHY) A XI& 230,000 230,000 0
= 207,000
AlHI 23,000
301 EtE NS 230,000 230,000 0




A SXNEH
33 Ors=A gd
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 207,000
AltI 23,000
01 A2 HSHS(RNEERTH) 230,000 230,000 0
OOLS S AL (OHOHR!) 42| XIS
230,000,000 230,000
= 207,000
Al 23,000
OlSLSAIZ(0H0HY) 22 I 1,753,126 1,753,126 0
Altl 1,753,126
307 elzto| & 1,753,126 1,753,126 0
AltI 1,753,126
e NEEEEETEES 1,753,126 1,753,126 0
OOFSLZAIL (0H0H2!) 22| X2
1,753,126,000& 1,753,126
AlHI 1,753,126
OlSL=AIL(0f0IY) HE]SE X 34,817 34,817 0
Al 34,817
301 EtE NS 34,817 34,817 0
AltI 34,817
02 MBI 2HHSFHS(HAANS, XLHE) 34,817 34,817 0
OOLSLSAIE (010IR) AFSHAIZYI X
e 34,817,000& 34,817
AltI 34,817
OlSL=SAIL(0f0HRY) etdze] & &ZoHd X 2,000 5,525 13,525
AlHI 2,000
307 @I2to| & 2,000 5,525 A3,525
Albl 2,000
10 Al SXAAEEHE 22X 2,000 5,525 A3,525
OOtS2AFAIL(0H0H) ere2te| & 3N
&l X3 2,000,000& 2,000
AltI 2,000
QEYS0ls ZSHEIIE(otsH) 22 97,793 97,793 0
= 39,117
Al 58,676
307 gl2to| & 97,793 97,793 0
= 39,117
AlHI 58,676
10 Al SXAI2EE 22X 97,793 97,793 0
OSSMEIIE 2EHI(=248]) X
97,793,000 97,793
= 39,117
AlHI 58,676
QES0ls ZSHEIIE(ot=H)2E (AlH]) 63,769 63,769 0
AlHI 63,769




SH: =NEMY
M Ot=sSX &gat
thel: Ol sEs (SH &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
307 212+01 A 63,769 63,769 0
AltI 63,769
e NEEEEETEES 47,321 47,321 0
OBSMEINE BAX =X+ X2
15,720,000 15,720
Al 15,720
OSSMEIE SAA SXIEE X
400,000& 400
AlHI 400
OSSHEIE SAIL AIIAZ2R24Y
1,912,000& 1,912
Al 1,912
OstiIloliots ™Y SSMEINE 2L XIA(
Al2IXIZ A}) 28,389,000& 28,389
Al 28,389
Ostiilloi=sSMEIE orMat2|d| X
900,000 900
Altl 900
11 Al =SXAMEES 16,448 16,448 0
O3sMEIE 230t XA
16,448,000 16,448
AltI 16,448
stjOlolols ae(2sY) 29 237,182 237,182 0
= A,872
Al 142,310
307 gI2Hol ™ 237,182 237,182 0
= A,872
Alt] 142,310
10 Al = XA EHE2FHIE X 237,182 237,182 0
Osttiulaiols &H 29
237,182,000& 237,182
= 94,872
AltI 142,310
SHITIGOtSEE (23Y) 2YXIA(AlL]) 27,331 27,331 0
AlHI 27,331
307 QIZ2t01 A 27,331 27,331 0
Al 27,331
10 Al S XA EEHE2IHIE X 20,751 20,751 0
Ostiiiloiotse e SALL =X+ K&
17,760,000& 17,760
Al 17,760
OstiIloiots2 e SAtA SXEIE XI&
600,000 600
Altl 600




G
B Ols=A gy
7l OIS== (Bt &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSITHIISOFSHE BARE Al2tel%g X2
2,391,000& 2,391
AlHI 2,391
11 AMEISXAEEES 6,580 6,580 0
OstiLloOtSal Ot AX=H At
A& 6,580,000& 6,580
AlHI 6,580
A0S =8 NE 190,800 195,600 24,800
AlH] 133,560
T4l 57,240
301 EtE NS 190,800 195,600 24,800
AlHI 133,560
Tl 57,240
02 A 2E AT S(FANE, XLTH) 190,800 195,600 24,800
OJIHPISOIE R4S X2
190,800,000 190,800
AlHI 133,560
el 57,240
A d=x=2378H X 5,000 5,000 0
Alt] 3,500
Tl 1,500
301 LEtE NS 5,000 5,000 0
AlHI 3,500
Tl 1,500
02 A2 XSG (FHAAHS, NSWE) 5,000 5,000 0
OJtEPIE YS2ETAY X
5,000,000 5,000
AltI 3,500
-l 1,500
2SHa0tE HetssEs s X2 21,000 21,000 0
Alt] 21,000
301 EetE2 N = 21,000 21,000 0
AlHI 21,000
02 ARSI 2EH 2GS (FHAAHS, W) 21,000 21,000 0
SEslyots Hasss S N2
21,000,000& 21,000
AltI 21,000
FOIOISHHEES MY H20tsE25H| X 12,000 0 12,000
= 8,400
Albl 3,600
301 EtE N = 12,000 0 12,000
= 8,400
Alt] 3,600
01 Al EE A S (2 RNEXMA) 12,000 0 12,000




2AM: SXEH
M Ol=s=AXl atat
o742 Ol sEs (CH9: &S1)
CHE . O(BIH) - HIRAY - BAS A e
ONZBOtsESH| XI& 12,000,000& 12,000
= 8,400
Albl 3,600
I0ISIHHEESAIY OtsE3722H|l K& 1,000 13,000 212,000
= 700
AlHI 300
301 LetEH 1,000 13,000 212,000
= 700
AlHI 300
01 Al E& 2(2DEXTLY) 1,000 13,000 212,000
Oots82 | XI& 1,000,000& 1,000
= 700
AlHI 300
SIHE/E d20ts235H| K& 24,000 24,000 0
= 16,800
Albl 7,200
01 LS X 24,000 24,000 0
= 16,800
AlHI 7,200
01 Al EEE£HS(2DEXEA) 24,000 24,000 0
(OFSE=PI RS HEZO0tsESH| K&
24,000,000 24,000
= 16,800
AlHI 7,200
I8 R Ots AelXlzdl K& 11,410 11,410 0
= 7,987
Albl 3,423
301 EtEXNZ 11,410 11,410 0
= 7,987
AlHI 3,423
01 Al EHEE I2(ZDEXTH) 11,410 11,410 0
Ok - It Ots Aelxl=zd| X3
11,410,000 11,410
= 7,987
AlHI 3,423
A0S IHE KA 162,000 162,000 0
J| 113,400
AlbI 48,600
301 LEEXZ 162,000 162,000 0
J| 113,400
Altl 48,600
01 AtSIE & 2(ZDEXWE) 162,000 162,000 0




A SXNEH
33 Ors=A gd
o742 Ol sEs (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEENEREL R E
151,200,000& 151,200
Jl 105,840
Al 45,360
Ogg=cI2t LUX&=S K&
1,400,000& 1,400
2l 980
AlH] 420
ogHlE X 5,400,000& 5,400
Jl 3,780
Albl 1,620
Oogg=sts A& 4,000,000 4,000
Il 2,800
AlHI 1,200
gtiaiots 23 A 6,000 6,000 0
= 4,200
AltI 1,800
301 EtE NS 6,000 6,000 0
= 4,200
Albl 1,800
01 Al EE A2 (2RNEXMR) 6,000 6,000 0
oggidots 2=l Xd
6,000,000& 6,000
= 4,200
AlHI 1,800
AE=HEE HE=E A 516,000 488,750 27,250
= 412,800
AltI 103,200
301 EtE NS 516,000 488,750 27,250
= 412,800
Altl 103,200
01 Al EEABZ2(2DEEMR) 516,000 488,750 27,250
OANE=HIEE Meg N3
516,000,000 516,000
= 412,800
AlH] 103,200
AEE=HEE HEEEs N 60,000 80,000 /20,000
Alt] 55,000
Tl 5,000
301 LEIE NS 60,000 80,000 220,000
AlH] 55,000
Tl 5,000
02 A2 XSG (FHAAHS, W) 60,000 80,000 /20,000




2A: SXFH
33 Ors=A gd
el olEEs (cie) 29
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAIEE20tS NEd3s N
50,000,000& 50,000
AlHI 50,000
OoJtgAs0ts MHEdds N
10,000,000& 10,000
AlHI 5,000
Tl 5,000
Ors2e T2AXM(CIENASE) K& 1,751,902 660,609 1,091,293
= 1,226,331
AlHI 525,571
301 EtE NS 1,751,902 660,609 1,091,293
= 1,226,331
AltI 525,571
01 AR 2EHSHS(RDNEXRTHE) 1,751,902 660,609 1,091,293
OotsZg NRHFHCLMAEE) X2
1,751,902,000& 1,751,902
= 1,226,331
Albl 525,571
ZAHN Xsots NEXEH 7,900 3,500 4,400
= 5,530
AlHI 2,370
301 EtE NS 7,900 3,500 4,400
= 5,530
AltI 2,370
01 AR 2EHSHS(RNEXRTHE) 7,900 3,500 4,400
OZAEXSOtS NHERIE
7,900,000 7,900
= 5,530
Altl 2,370
OLSSI AL B33 AL 8,430 7,980 450
201 er2 3| 4,980 4,980
01 AtR2t2|HI 3,000 3,000
Oootssitoey us & 82
3,000,000 3,000
02 S52g4l 1,980 1,980 0
OsUds 2= 33,000 x50 * 122 1,980
203 HR=H] 450 450
0B AIERHD2=TIY| 450 450
OOISSITh HEMH 2RER
500,000 *90% 450
307 @120l & 3,000 3,000
012z € /=4 3,000 3,000
OlloiOts XI=Hl L AL &
3,000,000& 3,000




A SXNEH
ma: ols=x EHAl
o9l 0125 (ol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OlSE2S8E8R3 At 20,000 22,000 22,000
= 16,000
Albl 2,000
Tl 2,000
201 =3 9,000 8,000 1,000
= 7,200
AltI 900
-l 900
01 At 22|l 7,500 6.800 700
OJlz=3g| 7,500,000& 7,500
[ 6,000
AlH] 750
Tl 750
02 s3=gHl 1,500 1,200 300
Oss=gHl 1,500,000& 1,500
[ 1,200
AlH] 150
Tl 150
301 EtE NS 11,000 14,000 A3,000
[ 8,800
AltI 1,100
-l 1,100
01 Al EE AT S (2 RDEEMA) 11,000 14,000 A3,000
OKNHIA2E| 11,000,000 11,000
[ 8,800
AlHI 1,100
Tl 1,100
OIS=SAIAMNY 29 2,200 2,200
201 fet= 3| 2,200 2,200
01 AtR2t2|HI 2,200 2,200
Olls 2= S 2,200,000& 2,200
FHAAES=HAA 16,710 8,000 8,710
= 3,400
Al 1,360
Tl 11,950
FHAHSF=HAE 16,710 8,000 8,710
= 3,400
AlHI 1,360
Tl 11,950
SASUOHIE XIS 9,910 8,000 1,910
307 212+01& 9,910 8,000 1,910
11 AMRISXAEEES 9,910 8,000 1,910




2A:

X XH -
o=

SINESES I}
FAAHSF=HASA

=Rl FHAASFAHXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZTAUMOMIE L Eots HIIE
9,910,000& 9,910
HIZ&AHX A=At OlAMH] KIZAHE 6,800 0 6,800
= 3,400
AlH] 1,360
T4l 2,040
301 EtE N = 6.800 0 6.800
= 3,400
Al 1,360
Tl 2,040
01 AR 2EHSHS(RNEXRTH) 6,800 0 6,800
OHIEYHX H==Xt Ol AHHIXIZ AL
6.,800,000& 6,800
= 3,400
Al 1,360
Tl 2,040
HH2LZH(SXFHD) 772,729 658,753 113,976
[ 313,204
AlHI 73,145
Tl 386,380
el 2| 697,604 583,628 113,976
= 313,204
Alt] 73,145
Tl 311,255
SEAtel2telA 2124H] XI& 225,497 206,709 18,788
= 86,820
Albl 43,410
Tl 95,267
101 e124d| 217,097 198,309 18,788
= 83,220
AltI 41,610
-l 92,267
03 SRA(RIH )22+ 217,097 191,581 25,516
OSEAtdlZelAt 2121l S 217,097
123, Atelay, ERN23 S
35,989,400 5 179,947
= 83,220
Altl 41,610
el 55,117
Scl=4d| 37,150
-tEag 250,000 * 122 3,000
- A G A 140,0002 x5+ 12& 8,400
-SE S0l 2,000,000 x6H 10,000
PN =) S 1,800,000 x6H 9,000




A SXNEH
Ho: HESAAY| (=X )
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-g o= 1,350,000 x6H 6,750
202 04l 8,400 8,400 0
= 3,600
Alt] 1,800
Tl 3,000
01 2LHoIH 8,400 8,400 0
OE&0t| 280,000 x5 62 8,400
= 3,600
Altl 1,800
Tl 3,000
OlsSetAtAIZel Al o1 24H] X1~ 172,504 157,279 16,225
= 104,320
Altl 7,824
Tl 60,360
101 e124d| 172,504 157,279 16,225
= 104,320
AlHI 7,824
| 60,360
083 22 (I 22 TE % 172,504 152,409 20,095
OOLS SR ARIZ2IAL Q1218] 172,504
=3, NS4, ERNYS S
35,486,000 4 141,944
= 104,320
Albl 7,824
Tl 29,800
Sc|= 4y 30,560
-ItEag 60,0002 x4~ 122 2,880
==l 140,000 x4 * 123 6,720
-GS0l 2,000,000 x4H 8,000
PN =) S 1,890,000 x4H 7,560
-dtas 1,350,000 x4 5,400
OlSSEXIWAHXIGALEI =S XIAL) el2id] X 44,927 41,401 3,526
[ 17,744
AlH] 8,871
Tl 18,312
101 @124H| 43,247 39,721 3,526
= 17,744
Altl 8.871
Tl 16,632
03 SR (RINHA) 222+ 43,247 38,503 4,744
OO0LSSXIWAHKIFALZI S RIAL el24] 43,247
g, BEANEs S 35,486,000& 35,486
= 17,744




2A: SXEA
. HY2IZU(SXEF
Chel: ol CERE)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
AlbI 8,871
-4l 8,871
Sc|= 4| 7,761
-bEsg 70,0003+ 12& 840
-=4d| 140,000& x 12& 1,680
-EEZOH| 2,000,000& 2,000
-AXReSsIIE 11,2003« 17 1,891
-3 1,350,000& 1,350
202 O4H| 1,680 1,680
01 =ZLHOdH] 1,680 1,680
OZLH0H| 280,000& x 15«63 1,680
OISESNY I 21AHdl X 157,611 130,423 27,188
iy 104,320
Altl 13,040
=t 40,251
101 2124l 150,891 123,703 27,188
= 104,320
Altl 13,040
sl 33,531
02 JIEt& &2 97,840 84,477 13,363
OOlSESHE AIZHIE NI (934 E) 97,840
23, AM2eleY, EEE S
84,257,000 84,257
iy 67,405
Altl 8,426
=t 8,426
NEY 60,0003 *3F 123 2,160
- ZOUZAH| 140,000& x3H x 122 5,040
CHelet =gl 50,0003+ 12& 1,800
HItE A 6,010& *3H+77 Al 2¢ 1,389
ExAELY 88,7203 +3F 123 3,1%
03 SR (RIAHL) 22X B4 53,051 38,142 14,909
OOISESHE (2RI H 2%H) 53,051
2, Nelsg, BHE S
46,143,000 46,143
= 36,915
Al 4,614
-4l 4,614
Sc|= 4| 6,908
-“HESOHI 2,000,000& 2,000
—H g A 140,000 x 18 x 1201 2 1,680
S utao 2 1,350,000& 1,350
-IESY 480,000 480




SH: =NEMY
Ho: HESAAY| (=X )
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
PN I= o) S 1,398,000 1,398
202 04l 6,720 6,720
01 =LHOHI 6,720 6,720
O=LHNHI 280,000 x4 H 6 6,720
OrsstidE o1y ol2ibl X 97,065 47,816 49,249
101 21AH| 93,705 44,456 49,249
02 JIet&R 2= 93,705 44,456 49,249
OOLSBIHEE AIZMHSHILIIH (9B 42
& el2H| 93,705
=S, BEE, A4 S
43,089,000& 24 86,178
- HASAH 140,000 x2&* 122 3,360
SxNRrY 86, 100& =2 » 122 2,067
e EEERSTEES
43, 75032« 123 1,050
el eS| 43,7502 x2&* 122 1,050
202 0o4dl 3,360 3,360 0
01 2L AL 3,360 3,360 0
O=LH0dHI 280,000 x2 & +62 3,360
=&l 75,125 75,125 0
JI23Hl 75,125 75,125 0
201 =3 21,065 21,065 0
01 At22t2lt] 19,065 19,065 0
ORN2g=3HI 8,748,000& 8,748
OJlzge=d Sl 9,677,000& 9,677
OR£d 28| 640,000 640
02 S3=gHl 2,000 2,000 0
o=sEz 2,000,000& 2,000
202 04| 47,040 47,040
01 =LHO LI 47,040 47,040
OJ|2g R0l
280,000 x28E +6E 47,040
203 HR=H| 7,020 7,020
01 D[22 HRFa| 2,700 2,700
OJ|2=gg A 3,000,000 90k 2,700
MU A2 LIFLI 4,320 4,320 0
ORAMEZE =4 4,800,000 *90% 4,320




